
 

 Erstellt Geändert Geprüft Entwicklung Geprüft Verkauf Freigabe 
Datum/Name 2010-11-29 PK     

 

Ernst Fehling GmbH & Co. · Mendener Strasse 1 · D-58739 Wickede (Ruhr)
Fon +49 (0) 2377 2033 · Fax 1635 · Email: info@fehling.de · Internet: http://www.fehling.de 

Seite 1/2 D:\Daten\AV\SA7\7173_SA_E.doc Revision: 2 

Parts list and mounting instruction 
 
 
Best No.: 7173 ES BMW R 1150 GS Article: Off/Road Protection Guard, silver 
 
 
1 pair of guards 
1 x Parts list and mounting instruction 
 

Mounting parts front on top: 
2 x Hexagon Screw     DIN 933   M 8 x 25 mm 
2 x Lock washer     DIN 6797   M 8 
2 x Washer      DIN 125   M 8 
 
Mounting parts back: 
2 x Distance tube     Ni Cr   18 x 3.5 x 55 mm 
2 x Hexagon socket head cap screw    DIN 912   M 10 x 95 mm 
2 x Lock washer     DIN 6797   M 10 
2 x Washer      DIN 125   M 10 
 
Mounting parts below: 
2 x holder with soldered pipe 
 
Holder in engine 

1 x Hexagon Screw     DIN 931   M 10 x 130 mm 
2 x Washer      DIN 125   M 10 
1 x Self locking hexagon nut    DIN 985   M 10 
 
Protection Guard to holder 

1 x Connection Strap 25 x 5 x 125 mm 
2 x Mushroom head square neck bolt   DIN 603   M 8 x 25 mm 
2 x Washer      DIN 125   M 8 
2 x Self locking hexagon nut    DIN 985   M 8 
 
2 x Ribbed inserts for tube ends    SRL 25 
 



 

 

Ernst Fehling GmbH & Co. · Mendener Strasse 1 · D-58739 Wickede (Ruhr)
Fon +49 (0) 2377 2033 · Fax 1635 · Email: info@fehling.de · Internet: http://www.fehling.de 

Seite 2/2 D:\Daten\AV\SA7\7173_SA_E.doc 

 

 
Picture 7173 

 

Mounting instruction: 
• With short inside hexagonal key the upper fixing bolt is to be solved under the tank.  
• For the lower connection the engine cover must be dismantled. 
• Mount the holders with the soldered tube with the listed mounting parts in the motorcycle. 
• Mount the Protection Guard with the further listeded mounting parts in the motorcycle in the following order 

of the engine side:          
 (Mushroom screw, Connection Strap, holder, Protection Guard, Washer, polystop nut) 

• After the assembly of the Protection Guard the engine cover is to be mounted again. 
 

Care and servicing: 
To reach a long live span of our chromium-plated articles they should be cleaned regulary and be treated 
with customary chrome care means. 
With powder coated articles a regular cleaning is important. Damages (e.g. by rockfall) can be mended with 
colour. 
By both versions we recommend about the winter the spraying or rubbing with corrosion protection oil or 
silicone. 
All fixing bolts must be checked at regular intervals (max. 6 months). 

We wish you a lot of joy and accident-free journey with our motorcycle accessories. 


